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1. Suppose the government opens up a market for
international trade and finds that the world price iy
lower than the domestic equilibrium price. Discuss

the gains and losses in the welfare of economic

participants. (15)
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2. (a) What is meant by a good being ‘excludable’” and
‘rival in consumption’” Enumerate the four
different categories of goods based on these

characteristics. (10)
(b) What is the supply curve in monopoly? (5)
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3. Give an cxample of a negative and a positive
externality. Explain why market outcomes are

inefficient in the presence of thesc externalities.

(7.8)
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4. Why do firms in an oligopolistic market structure
not collude to maximise their profits? Discuss the
behaviour of oligopolist firms using the game of

prisoners’ dilemma. (15)
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5. A glue factory and a stecl mill emil smoke containing
chemical that is harmful it inhaled in large amounts.
Describe three ways the government might respond

to this externality? (15)
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(a) What are the social costs of monopoly as the

market structure in cOmparison to per

fectly
competitive industry?

(8)

(b) To which type of good does the problem of ‘tragedy

of commons” relate 109 Explain this problem by
g1ving an cXxample. (7)
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1. (a) What is meant by price discrimination by a

monopolist?

(b) Using suitable diagram explain the condition of

.= Natural monopoly. |
= opoly (8.7)

>
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2. (a) Using proper diagrams, explain all short run
¢quilibrium conditions of a firm under monopolistic

competition.

b ' - | ’
(b) Is the use of product differentiation and advertising

by firms justified to achieve market power’
Discuss. (10,5)
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(a) Explain the equilibrium price, output level and
profits of a firm under monopoly in the long run.

Use suitable diagrams.

(b) Average Revenue (AR), Marginal Revenue (MR),
Average Cost (AC) and Marginal Cost (MC) of a
firm under monopoly are given below :

AR =140 - 2 Q
MR = 140 - 4 Q
AC=5Q+4/Q
MC =10 Q

At equilibrium level of output, calculate
(1) output
(i) price (price = AR) and
(9,6)

(iii) the amount of total profits

p.T.O.
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AR = 140 - 2 Q

MR =140 - 4 Q
AC=5Q+4/Q
MC =10 Q
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(a) What are the main features of public goods?

(b) How can the government arrive at an optimal level
of provision for public goods? - (8,7)
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5. () Explain various circumstances under which the

market fails to allocate resources efficiently.

(b) Discuss the concepts of Imperfect information,

Adverse Selection and Moral Hazard (7,8)
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6. (a) How is the equilibrium wage rate determined in a

competitive firm which uses labour as only

variable factor of production?

production quantities of apples when different
workers are employed :

P.T.O.
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Units of labour Total Product (T P, in kg.)

0 ()
1 5
2 9
3 | 12
4 | 14
5 R 15

6 ‘ 13

If apples are sold at Rs. 100 per kg. and workers
are hired in a competitive labor market for Rs. 200

per worker, how ‘many workers should be hired?

(8,7)
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7. (a) Critically examlne the comparative cost advantage

‘theory of international trade. - 5

(b) Protection from free trade has merits as well as
- demerits. Elaborate. . (8,7)
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8. Write notes on any two of the following :
(a) Efficiency of perfect competition,

(b) Prisoners Dilemma and behaviour of oligopoly
firms.

(¢) Concept of supply curve under monopoly.

(7.5,7.5)
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. (a) Draw the diagram of a firm making normal profit
under monopolistic competition.
When will firm able to make abnormal profit and
why firms usually make normal profit? (9)

(b) What is the cost that society has to bear because
of monopoly? (6)
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2. (a) Explain determination of short run and long run
equilibrium of firm under monopolistic conpetition?

(8)

(b) Explain the various co-operative and competitive
behaviour of oligopolistic firms. (7)
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3. (a) What is market failure and under what conditions

there is a situation of market failure? (9)

() How cquilibrium is obtained in case of Public

| goods? (6)
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4. (a) What are the features of public goods? How are
the public goods responsible for market failure?
Determine the efficient amount of public good that
should be produced? (10)

(b) How equilibrium is obtained in case of
Externalities. (35)
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5. (a) What is the reason behind supply of labour to be
backward bending? Explain by using suitable
diagram? 9)

(b) Explain the concept of economic rent. (6)
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6. (a) What are the various fallacious arguments in free
(rade and protection policy. (%)

(1) Explain the theory of comparative cost advantage
in the context of International Trade. (7)
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Describe tariff and its impact on consumer surplus,

producer surplus, government revenue and total surplus

with a suitable diagram. What are the arguments for
free trade? (15)
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Write Short Notes on Any three: (5%3)
(a) Nash Equilibrium

(b) Lemmons Problem

(c) Coase Theorem

(d) Negative Externalities
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